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1.C ) The Raymore Coni]pany issued 10-year bonds on January 1, 2006. The 15%
bonds have a face value of $100,000 and pay interest every January | and July 1. J
The bonds were sold for $1 1)7,205 based on the markel interest rate of 12%.
Raymore uses the effective-interest method to amortize bond discounts and premiums. ’
On July 1, 2006, Raymore should vecord interest expense (vound to the nearest dollar)
of ‘

a. $7,032 b.$7,500 ¢.$8,790 d.$14,065

2.( ) Low Company owns 40% of the voting stock of High Corporation and uses
the equity method in recordi‘ng this investment. High Corporation reported a
$10,000 net loss. Low Coniporation's entry would include a

a. Debit to the investmen( account for $10,000

b. Debit to the investment zliccoun_t for $4,000

c. Credit to the investmenl?account for $4,000

d. Debit to a loss account for $4,000 “

3{ ) ABC company uses the cstimate of sales method of acconnting for
uneotlectible accounts.  ABC estimates that 3% of all credit sales will be
uncollectible,  On January 1, 20035, the Allowance for Doubtful Accounts had a
credit balance of $2,400.  During 2005, ABC wrote-off accounts receivable totaling
$1,800 and made credit szlle? ot $100,000. Afier the adjusting entry, the December
31, 2005, balance in the Uncollectible Accounts Expense would be

a. $1,200 b. $3,000 ¢. $3,600 d. $7,200
4( ) The journal entry a company uses to record the estimated accrued producl
warranly liability is i
a. debit Product Warranty Expense; credit Product Warranty Payable
b. debit Product Warranty Payable; credit Cash
¢. debit Product Warranty Expense; credit Cash
d

debil Product Warranty Payable; credit Product Warranty Expense

50 ) Credit memorandums from the bank
a. decrease a bank customer's account

b. are used 1o show a bank service charge
show (hat a company has deposited a customer’s NSF check

d. show the bank has collected a note receivable for the customer
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Selected data for the current year ended December 31 are as follows:

Balance Balance
December 31 January 1
Accrued expenses (operating expenses) $29,500 $22,000
Accounts payable (merchandise‘credilors) 90,000 135,000
Inventories 42,500 68,000
Prepaid expenses 23,000 20,000

During the current year, the cost of merchandise sold was $600,000 and the operating
expenses other than depreciation were $138,000.  The direct method is used for
presenting the cash flows from operating activities on the statement of cash flows.

Required:
Determine the amount reported on the statement of cash flows for (a) cash payments

for merchandise and (b) cash payments for operating expenses.
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JAY Co. took a physical count of its inventory on December 31.  In addition, it had

to decide whether or not (he following items should be added to this count.

{a) Merchandise on hand had been sold earlier in the year but had been returned
by customers for various warranty repairs.

(b) JAY Co. sent merchandise on a consignment basis on December 31 just
prior to the physical count.

() On December 22, JAY Co. ordered merchandise on FOB destination terms.
The merchandise was shipped by the supplier on Decenmber 30 buf had not
been received by December 31.

(d) On December 27, JAY Co. ordered merchandise on FOB shipping point
terms. The merchandise was shipped on December 29 but had not been
received by December 31.

(¢) Merchandise sold FOB shipping point on December 31 was picked up by
the freight company just before closing on December 31.

() Merchandise shipped to a customer FOB shipping poini was picked up by
the freight company on December 28 but had not arrived at its destination as
of December 31.

Required:
Indicate which items should be added to (answer: yes) and which itends should not be

added to (answer: no) the December 31 inventory count.
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Indicate whether the following actions would (+) increase, (-) decrease, or (0) not

affect a company's total assets, liabilities, and stockholders' equity.
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(1)|Declaring a cash dividend

Assets Liabilities | Stockholders’

(2)|Paying the cash dividend declared in (1)
(3)|Declaring a stock dividend

dividend declared in (3)

(4)|Issuing stock certificates for the stock
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